### **Senate Finance and Public Administration Legislation Committee**

## ANSWERS TO QUESTIONS ON NOTICE ADDITIONAL ESTIMATES 2010-2011

#### **Prime Minister and Cabinet Portfolio**

**Department of the Prime Minister and Cabinet** 

**Question: PM31** 

**Topic: Official Establishments** 

**Asked By: Senator Fifield** 

**Type of Question: Written** 

Date set by the committee for the return of answer: 15 April 2011

Number of pages: 6

- 1. Can you give provide us with a full listing of the Prime Minister's wine cellar at Kiribilli and The Lodge?
- 2. Can you provide us with a full list of functions held at The Lodge or Kiribilli since 24 June 2010?
- 3. Can you provide us with the total cost of those functions, broken down by catering, additional staff required, entertainment etc?
- 4. Can you also provide details of how many guests attended these functions?
- 5. Can you provide the total cost of the relocation services following former Prime Minister Kevin Rudd moving out of the official residences and Prime Minister Julia Gillard moving in?
- 6. Have any alterations been made to the official residences since September 2010? Can you provide details of any alterations and their cost?
- 7. What has been the staff turnover at the official residences since June 2010?
- 8. Can you calculate the total carbon emissions of the official residences since September 2010?

### Prime Minister and Cabinet Portfolio Department of the Prime Minister and Cabinet

#### **Answer:**

1.

Kirribilli House as at 28 February 2011

Туре	Number	Value per bottle (ex GST)	Total value (ex GST)
Dom Perignon 1985	1	99.95	99.95
Bollinger Spec Cuvee Non Vintage	2	72.72	145.44
Billecart Salmon Brut Reserve N/V	1	58.17	58.17
Croser Non Vintage	11	20.99	230.89
Innocent Bystander Moscato 2010	1	13.99	13.99
Scarborough Late Harvest Semillon 2008	1	22.72	22.72
Sandalford Margaret River Riesling 2002	2	14.51	29.02
Smithbrook Sauvignon Blanc 2005	2	12.90	25.80
Petaluma Viognier 2005 1		26.88	26.88
Margan Verdelho	1	16.72	16.72
Toolangi Chardonnay 2006	2 27.27		54.54
Toolangi Chardonnay 2007	3	20.45	61.35
Eagle Vale Sauvignon Blanc Fume 2007	1	16.36	16.36
Elderton Sauvignon Blanc Semillon 2008	4 7.20		28.80
Devils Lair Chardonnay 2007	4	26.72	106.88
Brokenwood Reserve Semillon 2004	5	31.81	159.05
Brokenwood Reserve Semillon 2005	6 30.32		181.92
Scarborough Yellow Label Chardonnay 2007	rdonnay 2007 10 19.08		190.80
Logan Pinot Gris 2009	3	12.59	37.77
Henschke Coralinga Sauvignon Blanc Semillon 2009	12	15.59	187.08
Henschke Little Innes Pinot Gris 2009	9	21.61	194.49
Brokenwood Pinot Gris 2009	12	15.15	181.80

### **Prime Minister and Cabinet Portfolio**

### **Department of the Prime Minister and Cabinet**

Logan Sauvignon Blanc 2010	1	17.49	17.49
Voyager Sauvignon Blanc Semillon 2009	7	16.35	114.45
Leeuwin Estate Sauvignon Blanc Semillon 2009	6	17.17	103.02
Henschke Mt Edelstone Shiraz 2002	1	55.90	55.90
Henschke Cyril Cabernet Sauvignon 2001	3	64.93	194.79
Bowen Shiraz 2005	3	19.46	58.38
Taltarni Pyrenees Shiraz 2004	3	23.70	71.10
Elderton Estate Cabernet Sauvignon 2006	3	19.09	57.27
Elderton Estate Shiraz 2006	5	21.82	109.10
Brokenwood Indigo Pinot Noir 2008	10	21.28	212.80
Taltarni Heathcote Shiraz 2006	12	23.75	285.00
Leeuwin Estate Art Series Shiraz 2007	3	26.72	80.16
Ballewindi Pinot Noir 2009	9	19.08	171.72
Sandalford Estate Reserve Cabernet Sauvignon 2007	12	24.73	296.76
Total	172		3,898.36

The Lodge as at 28 February 2011

Туре	Number	Value per bottle (ex GST)	Total value (ex GST)
Bay of Fires Cuvee 2010	2	19.99	39.98
Stefano Lubiana 2010	3	25.45	76.35
Henry of Pelham Riesling Icewine 2004	1	58.00*	58.00
Mt Horrocks Riesling 2005	2	24.50	49.00
Pinnacle Ice Cider 2005	1	30.00*	30.00
Miranda Golden Botrytis 2002	1	14.50	14.50
Kalleske Shiraz VP 2007	4	18.45	73.80
Scarborough Late Harvest Semillon 2009	12	15.90	190.80
Lillydale Estate Chardonnay 2005	2	22.71*	45.42

### **Prime Minister and Cabinet Portfolio**

### **Department of the Prime Minister and Cabinet**

Туре	Number	Value per bottle (ex GST)	Total value (ex GST)
Hayshed Hill Chardonnay 2007	3	18.00*	54.00
Pauletts Polish Hill River Riesling 2008	2	17.17	34.34
Toolangi Chardonnay 2007	3	19.19	57.57
Pierro Sauvignon Semillon Blanc 2009	41	25.45	1,043.45
Delatite Gewurztraminer 2009	8	17.17	137.36
Stefano Lubiana Sauvignon Blanc 2010	7	22.26	155.82
Scarborough Chardonnay 2009	1	16.54	16.54
Leeuwin Prelude Chardonnay 2008	1	25.45	25.45
Seppelt Jaluka Chardonnay 2009	6	19.08	114.48
Canberra Federation Red 2000	4	11.75	47.00
Canberra Federation Red Magnum 2000	10	86.36*	863.60
Charles Melton Rose of Virginia 2008	6	18.18	109.08
Charles Melton Rose of Virginia 2009	15	17.81	267.15
Lillydale Estate Shiraz 2003	3	20.86	62.58
Evans & Tate Cabernet Merlot 2005	7	14.50	101.50
Kangarilla Road 2006 Fleurieu	15	17.27	259.05
Mr Riggs Shiraz 2007	9	18.00	162.00
Stonehaven Cabernet Sauvignon 1998	6	24.50	147.00
Krinklewood Wild Red 2005	8	11.45	91.60
Toolangi Pinot Noir 2006	1	19.19	19.19
Katnook Cabernet Sauvignon 2006	4	28.63	114.52
Plexsus Shiraz Grenache Mourdedre 2007	3	27.26	81.78
Cape Mentelle Cabernet Merlot 2007	16	18.17	290.72
Bellewindi Pinot Noir 2009	3	19.08	57.24
Yarra Burn Pinot Noir 2008	3	23.99	71.97
Total	213		4,962.84

<sup>\*</sup>indicates that value is estimated, as actual cost was not recorded at time of purchase.

### **Prime Minister and Cabinet Portfolio**

### **Department of the Prime Minister and Cabinet**

2-4:

Date	Description	Location	Approx Numbers	Cost# \$
25 Nov 2010	Prime Minister's Reception for	The Lodge	257	Catering 9,963.70
	members of the Parliamentary Press			Staff 2,382.09
	Gallery			Hire 11,202.03
				Flowers 195.97
26 Nov 2010	Prime Minister's Reception for	The Lodge	168	Catering 7,431.44
	Senior Executive Officers of the			Staff 1,637.10
	Australian Public Service			Hire 10,615.38
				Flowers 195.97
29 Nov 2010	Prime Minister's Reception for	The Lodge	123	Catering 4,536.96
	Senior Executive Officers of the			Staff 1,183.59
	Department of the Prime Minister and Cabinet			Hire 8,949.74
	and Caomet			Flowers 195.97
1 Jan 2011	Prime Minister's Reception for the	Kirribilli	109	Catering 2,353.20
	Australian & England Cricket Teams	House		Staff 1,790.94
				Hire 519.75
				Flowers 100.00
9 Jan 2011	Reception on the occasion of the	The Lodge	216	Catering 6,701.13
	Prime Minister's XI versus England			Staff 2,880.12
	Cricket Match			Hire 8,036.01
				Flowers 182.60
18 Jan 2011	Dinner on the occasion of the	Kirribilli	19	Catering 1,412.28
	Australia-United Kingdom Ministerial Consultations	House		Staff 334.89
	Winisterial Consultations			Flowers 90.00
25 Jan 2011	Morning Tea in honour of the 2011 Australian of Year Awards National	The Lodge	103	Catering 1,374.85
				Staff 896.68
	Finalists			Hire 9,517.74
				Flowers 413.10
26 Jan 2011	Prime Minister's Reception to	The Lodge	304	Catering 9,918.53
	celebrate Australia Day 2011			Staff 4,271.98
				Hire 14,720.12
				Flowers 413.10
				Entertainment 2,430.00

<sup>#</sup> Staff costs provided are those for additional casual staff employed for the function.

#### **Prime Minister and Cabinet Portfolio**

#### **Department of the Prime Minister and Cabinet**

- 5. The total cost of the removals for the Rudd family was \$18,187.20 (inc GST). There were no costs incurred by the department for Prime Minister Gillard moving into The Lodge.
- 6. There have been no alterations to the Official Establishments since September 2010.
- 7. Two resignations have been received by the department from staff of the Official Establishments since June 2010.
- 8. The department does not maintain this information.